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BNOFRBOBE A 7= & AIERIERBICHIGLTWS. £, RFEKIZBE=EMNTEZ E1E,
T O EEBBEHRLUA OBIMABROERKIZAE T 2 [1].

EEGIT, TTCIL, BEHDOELE2HKD, HENO2THAR, £2RHE, BLUOREABIZOLE
mTseLxis, #FRFh, 2EAMOREREORIOKM Ul REARRKEELNES) 2K/
THBIMDOES N* 2K 71-[2]. AFFETIE, LV —RELEZFEKHARIIXLT, HHERISOER
CEDOTREOBICNAE 1 BMLBEAIL, RESAHBREELZRNDNCTETROBEIERDDI LA
x5, Zhit, T2 KSARMOEERZ B OMBRNOH D RN LERO FTARBOEER GBT) (BN
72 BMRIER 1T O BAIL, EORBOERLBFEEZHENTHEBEEEDERIEN R LIRMIIR DI
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2. gERAMERERROERE

ZITH, Bd LRSI, BEHH = 2,3, )DREKSAK(K = 2,3, ) IR LT, EE
MM =01, -- H-2)DERL, TOFHTHHERENN = M +2,M +3,--- H)DIEA &
OBz 10EBMT 5. 2750, B2KOKE, TXTOENRULEIEZLL, TXTONBELSDRKR
WK CThaX o KnAREET. -, BalE, BrOEFOEAEFTORRBRORIZRT.

TDEE, RIEABIREBENR/NERZDNERDD. 22T, Bl L7 1008 & BMNE THR
EAMRBEN NS TEHR SN2 ERET 5. Lk, Zh2RESHEBEREKER WY, S(N) &
BTl eTne,
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x {(K—1)W(H—N+j—1)+1}(N~M-2i—2j—1) (1)
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3. RBARRS
TIT, THROBENEZN =M +2L (REL, L=1,2,[E5M]) L N=M+20+1 (=72
L, =12 [E=2=1)) 0 2@ ORBIHITERD. DEE, S(M+2L) & S(M+2L+1)
(22T, ROBRDIL YD L.

EE 1
S(M +2L) > S(M +2L+1) (2)

=L, L=1,2,---, [H—QH] Th5.
(FERARE.)

FE1LY, RESEHEHEEES(N)ZRKIZTDIN 2RO D7=HI21E, N = M + 2L DBETE
EZEZNT LV, T72bb, S(IM+2L) 2K RKIZTAHAL* #RKDT, N*=M+2L* LTk

htl _
R@yLﬂM+zmexg,wwnzﬁktTl%ﬁxufgﬂfaa,wﬁ&ﬁé.
R(L)
__ 1 2H—-2M —-3L+2 2H-M-—-2L+2 2H-2M—~L+1 2H-M-L+1
(K_1)3{K -2 K ~-K +(K+ 1)K

— (K + 1)KH-M-El g gH-MIU_ (o —1)(K — 1)K} (3)

ZITC, R(L)DLIZBT 5%5% AR(L) = R(L+1)—R(L) £ 8L & (722, L= 1,2,...,[H;M]—
1), ROMITERPELND.
() K=2"2L=10t%, HS<2M+5%25IFAR(L) <0, H>2M + 672 5IZAR(L) >0 Th5.
(i) K=2/>L>2 F/EK>30k%, AR(L)<0TH5.

UEED, koEBR213ELNS.

B 2
(WM K=20t%&, HS2M+5%0EN*=M+2, H>2M+6R5IEN*=M+4Th5.

(2)K>3L&, N*=M+2Th5.
(FEHRE.)
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